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First Exercise (10 points)

Question Answer mark

11 Low glycemic index starchy foods maintain a long-lasting sugar level in the 1
blood and supply the brain regularly with sugar.

1.2 The mineral that ensures the transportation of oxygen in blood is the iron. 1

13 The deficiency of antioxidants in our diet does not help to slow down the 1

formation and the action of free radicals that alter the functioning of cells and
accelerate their aging.

2.1 carbohydrates _digestion, glucose _oxidation | CO, +H;O + Energy 1
2.2 These transformations represent catabolic pathways since large molecules are 1

transformed into small ones with release of energy.

3.1 Salmon contains water that justifies the presence of vitamin Bi,. 1.5

Salmon contains lipids that justify the presence of vitamins A and D.

3.2 The energy value of 100g of salmon = (24.4 x 4) + (8 x 9) = 169.6 Kcal. 1.5
41 The two classes are: macrominerals and trace-minerals. 1
4.2 Calcium: forms and maintains both bones and teeth. 1

Sodium: contributes to nerve transmission.




Second Exercise (10 points)

Question Answer Mark
1.1 The four symptoms of Zika virus disease are: fever, rash, joint pain, and 1
conjunctivitis.
1.2 NSAIDs can cause hemorrhage (bleeding). 0.5
1.3 Women residing in areas with active Zika virus transmission are advisedto | 1
delay their pregnancy plan in order to prevent possible severe birth defect
called microcephaly.
2 1.75
Generic name Trade name Pharmaceutical actions
- .Analgesic......
Aspirin ...Aspirin.......... - Anti-pyretic......
- Anti-
inflammatory.......
Paracetamol ...Panadol - Analgesic......
- Anti-pyretic......
3.1 No, since antibiotics are used against bacteria or fungi and cannot treat virus | 1
diseases.
3.2 One advantage: treat the infection caused by an unknown microorganism. 1.5
One disadvantage: it may kill some beneficial bacteria such as intestinal
floras.
3.3 Two mechanisms are: 1
- Production of enzyme that renders the antibiotic inactive.
- Change its permeability to antibiotic.
4.1 Predinsone® belongs to the group of steroidal anti-inflammatory drugs. 0.5
4.2 Four formulations of a medicinal drug are: liquids, sprays, ointments, 1
suppositories.
4.4 The side effects of Prednisone® are: fluid retention, unwanted hair and 0.75

mental depression.
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